

Advances in Theoretical & Computational Physics

### **Research Article**

# **Proof that Fermat's Last Theorem Holds in a Large Range**

### Yajun XU

Intelligent Research Institute, Tiandi Science and Technology Co., Ltd, Beijing, 100013

## \*Corresponding author

Yajun Xu, Intelligent Research Institute, Tiandi Science and Technology Co., Ltd, Tiandi Building 535, Hepingli, Chaoyang District, Beijing.

Submitted: 06 Nov 2022; Accepted: 11 Nov 2022; Published: 23 Nov 2022

Citation: Xu, Y. (2022). Proof that Fermat's Last Theorem Holds in a Large Range. Adv Theo Comp Phy, 5(4), 637-639.

**Abstract:** It is proved that for the equation  $x^n + y^n = z^n$ , for any positive integer x and n  $(n \in \mathbb{N}, n \ge 3, x \ge n)$  when  $y > [x \sqrt{\frac{x}{n}}] + 2$ 

Fermat's Last Theorem holds.

**Keywords:** Fermat's Theorem, Mathematical Induction, Sandwich Theorem.

#### Introduction

Fermat's Last Theorem (sometimes called Fermat's conjecture, hereinafter referred to as FLT) states that no three positive in-

tegers x, y and z satisfy the equation  $x^n + y^n = z^n$  for any positive integer n greater than 2 (n > 2). The theorem has been solved by the British mathematician Andrew Wiles in 1994, but his proof method is complex. Whether there is "a wonderful proof" called by Fermat has always inspired people to explore. It is found that there is indeed a simple method to prove that the FLT holds in a large range [1].

Through hundreds of years of in-depth and lasting research, we only need to prove that the proposition is true when n=4 and n is an odd prime number [2]. The former has been proved by Fermat's infinite descent method, and the latter is the research content of this paper [3]. For the convenience of discussion, suppose that , and x, y and z are mutually prime, that is, gcd(x, y, z) = 1. FLT is classified into the following two cases for discussion:

(A)  $\forall x (x \in N, x \ge n)$ , it is proved that *FLT* is true when .

$$y > [x \sqrt{\frac{x}{n}}] + 2.$$

(B)  $\forall x (x \in N, x \ge n)$ , it is proved that *FLT* is true when .

$$x < y \le [x \sqrt[n-1]{\frac{x}{n}}] + 2$$
.

This paper proves that (A), and the next step is to prove that (B). First, we give the relationship between exponent n and x, y, z.

**Lemma 1.1:**  $\forall n (n \in \mathbb{N}, n \ge 3)$ , for the equation  $x^n + y^n = z^n$ ,

there is 
$$z - y < \frac{x}{n}$$
.

Proof. Since  $x^n = z^n - y^n = (z - y) \sum_{i=0}^{n-1} y^{n-1-i} z^i > n(z - y) y^{n-1} > n(z - y) x^{n-1}$  so

$$z - y < \frac{x}{n} \tag{1.1}$$

Lemma 1.1 is proved.

**Corollary 1** For any positive integer x, if , FLT is true. *Proof.* According to Formula (1.1), we have

$$0 < z - y < \frac{x}{n} \tag{1.2}$$

Therefore

$$z < y + \frac{x}{n} \tag{1.3}$$

For any positive integers y, z, we have

$$z \ge y + 1 \tag{1.4}$$

From Formula (1.3) and Formula (1.4), we know that when x < n, the two are contradictory. It is easy to know that when x < n, FLT is true. Corollary 1 is proved. According to corollary 1, hereinafter we agree that  $x \ge n$ 

Adv Theo Comp Phy, 2022 Volume 5 | Issue 4 | 637

## 2. Notation and sketch of the proof

Notation

$$\left[x\sqrt{\frac{x}{n}}\right]$$
 - integer part of number  $x\sqrt{\frac{x}{n}}$ 

∀ - arbitrary selection.

First we prove that  $\forall n (n \in \mathbb{N}, n \ge 3)$  and  $\forall x (x \in \mathbb{N}, x \ge n)$ ,

if 
$$x^n + y^n = (y+1)^n$$
, there must be a positive integer  $y_n = [x \sqrt{\frac{x}{x}}]$ ,

let  $y^* = y_n + 2$ , the equation

$$x^{n} + (y^{*})^{n} < (y^{*} + 1)^{n}$$
 (2.1)

Then we prove  $\forall m \ (m \in N)$ , the equation

$$x^{n} + (y^{*} + m)^{n} < (y^{*} + m + 1)^{n}$$
 (2.2)

So, for the equation  $x^n + v^n = z^n$ , for any positive integers y

with 
$$y > [x \sqrt{\frac{x}{n}}] + 2$$
, we have  
 $y^* + m < z < y^* + m + 1$  (2.3)

Since z is between two positive integers  $y^* + m$  and  $y^* + m + 1$ , it must not be a positive integer. This proves that  $(\forall n \ n \in N \ n \ge 3)$  and  $\forall x (x \in N, x \ge n)$ , FLT is true for all positive integers with .

$$y > \left[x \sqrt{\frac{x}{n}}\right] + 2$$

#### 3. Lemmas

**Lemma 1.**  $\forall n \ (n \in \mathbb{N}, n \ge 3) \ and \ \forall x \ (x \in \mathbb{N}, x \ge n), \ for \ the equation <math>x^n + y^n = (y+1)^n$ , there must be a positive integer

$$y_n = [x \sqrt[n-1]{\frac{x}{n}}]$$
, with  $y < y_n + 1$ 

Proof. Since  $x^n = (y+1)^n - y^n = \sum_{i=0}^{n-1} (y+1)^i y^{n-1-i}$  so

$$ny^{n-1} < x^n < n(y+1)^{n-1}$$
 (3.1)

Then we have

$$x \sqrt[n-1]{\frac{x}{n}} - 1 < y < x \sqrt[n-1]{\frac{x}{n}}$$
 (3.2)

Let the integer part of  $x \sqrt[n]{\frac{x}{n}}$  be  $y_n$ , we write  $y_n = \left[x \sqrt[n-1]{\frac{x}{n}}\right]$ 

By (3.2), we have

$$y < y_n + 1 \tag{3.3}$$

Lemma 1 is proved.

**Lemma 2.** Let  $y^* = y_n + 2$ , where  $y_n = [x \sqrt{\frac{x}{n}}], \forall n \ (n \in N) n \ge 3$  and  $\forall x \ (x \in N, \ x \ge n)$ , there is  $x^n + (y^*)^n < (y^* + 1)^n$ .

*Proof. Since* 
$$(y^* + 1)^n - (y^*)^n = \sum_{i=0}^{n-1} (y^* + 1)^i (y^*)^{n-1-i}$$
, there is

$$(y^* + 1)^n - (y^*)^n > n (y^*)^{n-1} = n (y_n + 2)^{n-1}$$

By (3.1) and (3.3), we have

$$n(y_n + 2)^{n-1} > n(y+1)^{n-1} > x^n$$
 (3.4)

Therefore

$$(v^* + 1)^n - (v^*)^n > x^n \tag{3.5}$$

Lemma 2 is proved.

**Lemma 3.**  $\forall n \quad n \in \mathbb{N} \quad n \ge 3$ ,  $\forall x \quad x \in \mathbb{N} \quad x \ge n$  and  $\forall m \ (m \in \mathbb{N})$  for any positive integers y with

$$y > \left[x \sqrt{\frac{x}{n}}\right] + 2$$
, we have

$$x^{n} + (y^{*} + m)^{n} < (y^{*} + m + 1)^{n}$$
(3.6)

*Remark.* we will prove (3.6) by mathematical induction. (A) First, we prove that (3.6) holds with n = 3, that is

$$x^{3} + (y^{*} + m)^{3} < (y^{*} + m + 1)^{3}$$
 (3.7)

*Proof.* When n = 3, let  $y^* = \left[x\sqrt{\frac{x}{3}}\right] + 2$ , for any positive integer m, we have

$$(y^* + m + 1)^3 - (y^* + m)^3 = (y^* + 1)^3 - (y^*)^3 + 3m(2y^* + 1) + 3m^2$$
(3.8)

Let n = 3 in (3.5), we have

$$x^{3} + (v^{*})^{3} < (v^{*} + 1)^{3}$$
 (3.9)

Substitute formula (3.9) into formula (3.8), then we have

$$(y^* + m + 1)^3 - (y^* + m)^3 > (y^* + 1)^3 - (y^*)^3 > x^3$$

(3.10)

Therefore, when n = 3, (3.6) holds.

(B) The following we prove that (3.6) is true when n > 3.

*Proof.* Suppose that  $(y^* + m + 1)^n > x^n + (y^* + m)^n$ , we have

$$(y^* + m + 1)^{n+1} > (y^* + m + 1)[x^n + (y^* + m)^n] > x^{n+1} + (y^* + m)^{n+1}$$
(3.11)

By (3.11), it suffices to show that

$$(y^* + m + 1)^{n+1} - (y^* + m)^{n+1} > x^{n+1}$$
 (3.12)

Therefore, for index n + 1 ( $n \in N$ ), formula (3.6) holds. From formula (3.7) and formula (3.12), lemma 3 is proved.

#### Theorem

**Theorem 1.** For any positive integer n ( $n \in \mathbb{N}$ ,  $n \ge 3$ ) and x ( $x \in \mathbb{N}$ ,  $x \ge n$ ), for the equation  $x^n + y^n = z^n$ , there must be a

positive integer  $y_n = \left[x \sqrt{\frac{x}{n}}\right]$ , for any positive integer y with  $y > y_n + 2$ , FLT constant holds.

*Proof.* For any positive integer

$$y *= \left[x \sqrt{\frac{x}{n}}\right] + 2 \quad (n \in N, n \ge 3, x \in N, x \ge n),$$

let  $x^n + (y^*)^n = z^n$ , according to lemma 2,  $y^* < z < y^* + 1$ . At the same time, for any positive integer m, let  $x^n + (y^* + m)^n = z^n$ , according to lemma 3,  $y^* + m < z < y^* + m + 1$ . Easy to know,

$$\forall n (n \in \mathbb{N}, n \ge 3) \text{ and } \forall x (x \in \mathbb{N}, x \ge n), \text{ for any positive integer } y \text{ with } y > [x \sqrt{\frac{x}{n}}] + 2, z \text{ in equation } x^n + y^n = z^n \text{ is between}$$

two adjacent positive integers y and y + 1. Therefore, z must not be a positive integer and FLT holds.

Theorem 1 is proved.

#### **Conclusion**

This paper proves that for all positive integers  $n (n \in N, n \ge 3)$  and  $x (x \in N, x \ge n)$ , for any positive integer y with

$$y>[x]\sqrt[n-1]{\frac{x}{n}}+2$$
 FLT holds. The next step is to prove that y is in the interval  $[x+1,x]\sqrt[n-1]{\frac{x}{n}}+2$  and FLT is correct.

### References

- 1. Wiles, A. (1995). Modular elliptic curves and Fermat's last theorem. Annals of mathematics, 141(3), 443-551.
- 2. Hua, L. G. (1957). Number theoretic guidance.
- 3. Yuqiang, Y. (1987). Appreciation of famous questions of Fermat conjecture. Shenyang: Liaoning Education Press, 63-67.

**Copyright:** ©2022 Xu, Y. This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.